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Quiz Date: 20t August 2020

Directions (1-15) : In each of the these questions, two equation (I) and (II) are given. You
have to solve both the equations and give answer

Lp?+5p+6=0
Ql_ll.q2+3q+2={}

(a) if p is greater than q.

(b) if p is smaller than q.

(c) if pis equal to q.

(d) if p is either equal to or greater than q.
(e) if p is either equal to or smaller than q.

Q2.
(a) if p is greater than q.

(b) if p is smaller than q.

(c)if pis equal to qg.

(d) if p is either equal to or greater than g.
(e) if p is either equal to or smaller than q.

L.p?+p =56
y IL.g2—17g +72 =0
(a) if p is greater than q.
(b) if p is smaller than q.
(c)ifpisequal toq.
(d) if p is either equal to or greater than q.
(e) if p is either equal to or smaller than q.

.3p+2q—58=0
o0 0 +p =23
(a) if p is greater than q.
(b) if p is smaller than q.
(c) if pis equal to q.
(d) if p is either equal to or greater than q.
(e) if p is either equal to or smaller than q.

L3p?+17p+10=0
Qs I.10g° +9g+2=0
(a) if p is greater than q.
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(b) if p is smaller than q.

(c) if pis equal to g.

(d) if p is either equal to or greater than q.
(e) if p is either equal to or smaller than q.

L6x*?+77x+121 =0
I.yvZ+9y—22=0
Q6 yo+ 9y

(a)ifx<y
(b)ifx>y
(0)ifx=y
(d)ifx<y
(e) if x =y or no relationship can be established between x and y

Lx = V625
o7 1Ly =V676

(a)ifx<y
(b)ifx>y
(c)ifxzy
(d)ifxsy
(e) if x =y or no relationship can be established between x and y

[ x2+4x+4=0
2— po—
oo Y2 — 8y +16=0

(a)ifx<y
(b)ifx>y
(0)ifxzy
(d)ifx<y
(e) if x =y or no relationship can be established between x and y

Lx%— (16)% = (23)% — 56

- II.y'/? — 55 + 376 = (18)2

(a)ifx<y

(b)ifx>y

(gifxzy

(d)ifx<y

(e) if x =y or no relationship can be established between x and y

Lx*—19x+84 =0

o10. 11 ¥> — 25y +156 = 0
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(a)ifx<y
(b)ifx>y
(0)ifx=y
(d)ifx<y
(e) if x =y or no relationship can be established between x and y

I. 4x+7y=209

II. 12x-14y=-38
Q11.

(a)ifx<y
(b)ifx>y
(g)ifx<y
(d)ifx=y
(e) if x =y or no relation can be established

. 17x2+48x=9
I 13y2=32y-12

(a)ifx<y
(b)ifx>y
(c)ifx=<y
(d)ifx=y
(e) if x =y or no relation can be established

Q12.

I. 16x2+20x+6=0

Q13. IL. 10}"2 + 38}" +24=0
(a)ifx<y
(b)ifx>y
(g)ifx<y
(d)ifx=y
(e) if x =y or no relation can be established

. 8x2+6x=5
2 _ —
Q14 II. 12yc-22y+8=0
(a)ifx<y
(b)ifx>y
(c)ifxs<y
(d)ifx=y
(e) if x =y or no relation can be established
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I. 18x2+18x+4=0
I. 12y2+29y+14=0

(a)ifx<y
(b)ifx>y
(0)ifx<y
(d)ifx=y
(e) if x =y or no relation can be established

Q15.

Solutions

S1. Ans.(e)

Sol.
Lp?+5p+6=0
=p+2)(p+3)=0
=p=-2,-3
ILg*+3q+2=0
=(qgq+1)(g+2)=0
=q=-1,-2
=psq

S2. Ans.(d)

Sol.

Lp°=4
=p=2,-2
ILg°+4q+4=0
=(g+2)(g+2)=0

=>q=-2,-2
=p=z2q

S3. Ans.(b)

Sol.

Lp®+p-56=0
=(p+8)(p-7)=0
=p=-87

IL.q*-17g+72=0

=(q-9)(q-8)=0
=q=879

=p<q
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S4. Ans.(a)

Sol.
L3p+2q=58&ILp+q=23
Solving [ & II we get
P=12,q=11

=p>q

S5. Ans.(b)

Sol.

.3p*+17p+10=0

= 3p?+15p+2p+10=0
=(p+5)(3p+2)=0
=?p=—5,—§
1. 10g°% +9g+ 2=10

= 10g° +5gq+4g+2=0
= (2q+1)(5q+2)=0

1 2
A= 75
=p<q
S6. Ans.(e)

Sol.

Lé6x*>+77x+121=0
or,6x* + 66x + 11x + 121 =0
or,6x(x+11)+11(x+11) =0
or,(6x+11)(x+11) =0

11
or, X =——, —11
ILy:+9y—22=0
or,y?+ 11y —2y—22=0
or,y(y+11) — 2(y + 11)
or,(v—2)(y+11)=0
or,y = 2,—11
Hence, no relationship can be
established between x and y.

S7.Ans.(a)
Sol.
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I.x =+625 = +25
ILy =+/676 =426
So,v=x

S8. Ans.(a)

Sol.

Lx*+4x+4=0
(x+2)P =0=x=-2
ILy*—8y+16=0
=(v—4)=0=2y=4
R =

S9. Ans.(d)

Sol.
L.x*— (16)° = (23)* — 56
or x* — 256 = 529 — 56
o x =1/729 = 427
ILy*3 — 55 + 376 = (18)°
or y'/® = 324 4+ 55 — 376
~y= (30 =27
SV =X

S10. Ans.(d)

Sol.

Lx*—19x+84=0
x?—Tx—12x +84=0
(x—7)(x—12)=0
~x=7,12

ILy? — 25y + 156 =0
yi—13y— 12y +156 =0
(y—13)(y—12)=0

=y =13,12

LEXSY

S11. Ans.(e)
Sol.
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I 4x + 7y = 209

IL12x — 14y = —38
or6x — 7y =—19

Adding I and Il we get

10x =190

=x=19

nTy=114+19

=y=19

x=y

S12. Ans.(a)

Sol.

.17x% +48x =9
= 17x* +48x-9=0
= 17x* +51x-3x-9=0
= (x+3)(17x-3)=0
3

=x=-3-—
17

IL13y2 —32y+12=0
= 13y* - 26y —6y+12=10
= (y—2)(13y—-6)=0

=y =2 6
Y= 213
F}K
S13. Ans.(b)

Sol.
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.8x*+10x+3=0
= 8x°+4x+6x+3=0
= 2x+1)(4x+3)=0

1 3
Sx=——,——

r

2 4

IL 5y + 19y +12=0
=5y’ + 15y +4y+12=0
= (y+3)(Gy+4)=0
= (yv+3)(5y+4)=0

=y=-3 *
:"Ir - » 5
X>y
S14. Ans.(c)

Sol.

I.8x*+6x-5=0
=8x’-4x+10x-5=0
= ([(2x-1)(4x+5)=0

1 5

S x=_,——
2 4

IL6y* -11y+4=0
=2 6y°-3y-8y+4=0
=(2y-1) (3y-4)=0

L., 14
Y=33

V22X

$15. Ans.(d)

Sol.
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L.9x% + 9% +2=0
=0x*+3x+6x+2=0
= [E3x+1)3x+2)=0

1 2
Sx=——,——

¥

3" 3

IL12y* + 29y + 14=0
= 12y + 21y +8y +14=0
=4y+7)(3y+2)=0

702
Sy=-—,——

»

4 3
X2y
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